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PAPER -1

Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory. 50 Q x 2 M = 100 Marks

Read the following passage carefully and answer questions from 1 to 5 :

If India has to develop her internal strengths, the nation has to focus on the technological
imperatives, keeping in mind three dynamic dimensions : the people, the overall economy and the
strategic interests. These technological imperatives also take into account a ‘fourth” dimension,
time, an offshoot of modern day dynamism in business, trade, and technology that leads to
continually shifting targets. We believe that technological strengths are especially crucial in dealing
with this fourth dimension underlying continuous change in the aspirations of the people, the
economy in the global context, and the strategic interests. The progress of technology lies at the
heart of human history. Technological strengths are the key to creating more productive employment
in an increasingly competitive market place and to continually upgrade human skills. Without a
pervasive use of technologies, we cannot achieve overall development of our people in the years to
come. The direct linkages of technology to the nation’s strategic strengths are becoming more and
more clear, especially since 1990s. India’s own strength in a number of core areas still puts it in a
position of reasonable strength in geo-political context. Any nation aspiring to become a developed
one needs to have strengths in various strategic technologies and also the ability to continually
upgrade them through its own creative strengths. For people-oriented actions as well, whether for
the creation of large scale productive employment or for ensuring nutritional and health security
for people, or for better living conditions, technology is the only vital input. The absence of greater
technological impetus could lead to lower productivity and wastage of precious natural resources.
Activities with low productivity or low value addition, in the final analysis hurt the poorest most.
The technological imperatives to lift our people to a new life, and to a life they are entitled to is
important. India, aspiring to become a major economic power in terms of trade and increase in
GDP, cannot succeed on the strength of turnkey projects designed and built abroad or only through
large-scale imports of plant machinery, equipment and know how. Even while being alive to the
short-term realities, medium and long-term strategies to develop core technological strengths within
our industry are vital for envisioning a developed India.

1.  The advantage of technological inputs would result in :

(1) Lifting our people to a life of dignity ~ (2) Unbridled technological growth

(38) Importing plant machinery (4) Sidelining environmental issues
2. More productive employment demands :

(1) Large industries (2) Pervasive use of technology

(3) Limiting competitive market place (4) Geo-political considerations
eoouss [[FHMAIDNNALD -
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e U U H Ue (50) 5 fashedid U9 €1 U U % 9 (2) 3 €1 |l we e €
50 U9 x 2 3k = 100 Ak

FrAfafes Ty &t eI | U 3 uvE WE& 1 95 9k o ST S
Ifg IRG I T SFiafer vfaal fomfad 3t §, o STl 9 Tiaviie &) — a1, Fafor
srefereeen SR WM fedi 1 = H Wad gu Ueiiehld STavaehiviiadesli W &M Hhid & el 3
TrENfirerg STeregentiiadid ue ¢ =Y s, §HE, T e Wadl § S SHed, AR TS Yt hi
3TYfes Tiaeiiara § .90 T, IR S RS S5 aedi i 31X STRR &l 8 | 3911 I8 A § fof 59 =

3T o Fas | ST i sTehiaTedl § FRa 2 T8 9Radd, afvas dey § steferaen qon amiis 7ed art
fea % aftea o Wrenfirer= wfewmat fakd w9 § weeyt €1 e sfae % o # St fomme T &
¥ IR THH SUAM agdt gfawadt o aeR | WrenfireRr wifaar eifuss Scieer UsPR YT e qen
Ta-hITTE ol STEA I TG i SR F TR0l © | UreNfiTfehal o oTdeh STIUART o o 89 3T arel
T H 310 T 1 FATHOT faehrd Tel X Tehd | <1 ki e vIfadl & 91 Yedel S e &9
Y 1990 T o 915 § SRR T Bl o1 W &1 hs o STI&E1 § Wd WRd &l wfe 39l
J-Terifas Hed § wehfad wfed =t feafa § wardt €1 e faefaa 3o o9 o steniaft et off To & forg
fafve wmfter drenfifea § wfe-gvr= M1 IR @ &1 gorToae Wil & Weam | 3% FRa oTereH
FI @ ot gmed off v g1 S-S wEf & ol o TR foeie T W Saeeie UsTR 6
g B AT ST ht 9T T e Heielt gReq ghAfved wE @ A1 f Sfem A i s feafaar & -
T gftedl § drenfirert T Hecyel STd ¥ 1 UienfieRt W sTansd i 9a i erufefa 9 fe wla
STTGeRAl 3T eI UThfden STl st aaiar ol °1 IR & Gehdl 71 1 'R’ ScaeeRar a1 e
T qod-Gae ¥ [ fhameheiy siaa: steia e el sl Gord 31 g1 UgE € | BHR Sl bl T
T e deh T 3R 98 Siad ¥eH S, 9 ot 9% TR €, 39 9N § SR sevaenied
Tecqul ¥ 1 MR iR Sh.Sh . § gfg i gfic A s o<t snfede wifed 2 o enepieht wia foewr # festeA
i Tl iR ffHa ‘et ufEemrsti it wfed a1 hae I e, IUH0T IR qhARl JH h g W
el &1 B Hhal| STeqehTicten Al T &AM od U AR I § HEIH Td Sreehlicih (OMITaal gRl
Ureifierra wifeal ol faenfaa e faefad wRa &t ed T &l TR & & o geaqet €1

1. WA Tl o o st afkoms g
(1) THAR SR ol RO Shed 7 wgar - (2) et v dafg
(3) HIF TEAAK I AT (4) TR Heielt & I IO /AT

2. AfHe ScEE ISR 91 i o T Semersh © -
(1) foremer s@m (2) UTENfThT 1 SATIH TR
(3) faeaaicrer sTSR 1 S0 HfHd e (4)  Y-USHIfaR ra-foem

ooons [ HHNINIRNMINAA]




3.  Absence of technology would lead to :

(a) Less pollution (b) Wastage of precious natural resources
(c) Low value addition (d) Hurting the poorest most
Code :
(1) (@), (c) and (d) only (2) (@), (b) and (c) only
(3) (b), (c) and (d) only (4) (a), (b) and (d) only
4.  Envisioning a developed India requires :

(1) Development of core technological strengths

(2) Aspiration to become a major economic player
(3) Dependence upon projects designed abroad
(4) Focus on short-term projects
5.  According to the above passage, which of the following are indicative of the fourth
dimension ?
(a) Aspirations of people (b) Modern day dynamism
(c) Economy in the global context  (d) Strategic interests
Code :
(1) (a), (b) and (d) only (2) (a), (b) and (c) only
(3) (b), (c) and (d) only (4) (a), (c) and (d) only
6.  Given below are two premises (A and B). Four conclusions are drawn from them. Select the

code that states validly drawn conclusion(s) (taking the premises individually or jointly).
Premises :

(A) Most of the dancers are physically fit.

(B) Most of the singers are dancers.

Conclusions :

(a) Most of the singers are physically fit.

(b) Most of the dancers are singers.

(c) Most of the physically fit persons are dancers.

(d) Most of the physically fit persons are singers.

Code :

(1) Dand@ (2 @and®b) () (and(© (4 (o)and (d)

7. If VARANASI is coded as WCUESGZQ, then the code of KOLKATA will be :
(1) LQOOFZH (2) LOQOZEH (3) HLZEOOQ (4) ZELHOQO

8.  Introducing Rakesh to her husband a women said, “His brothet’s father is the only son of my
grandfather”. The woman is related to Rakesh as :
(1) Daughter (2) Aunt (3) Mother (4) Sister

s [[{UURNIIRHARIN]



. Urenfirnt st srufafa & forwent wmt wera grm 2

(a) A TG (b) HHH Wehfdeh HETEH] i sfelial

() T =i qoa-gada (d) A TS AT HeIY AU TREH
EA\R‘:

(1) e (a), (c) 3 (d) (2) ad (a), (b) 3 ()

(3) e (b), (c) 3 (d) (4) % (a), (b) 3R (d)

. Toaorfaa YR &t HegaT & GeR & o STeeas ©

(1) Hhf=eh drenfirnr wifed &1 fawm

(2) 9@ ik wfed o T STeRiaT

(3) forew H TR =t 78 s X e
(4) ETIHICTR IRASTIST T &AM hf=d H

. U TR % ATER frefafed § 9 RF A9 s Sl T s § 2

(a) SH-3THIRMT (b) emyfer wifasfierar
(c) dftass aRUed # srefeeeen (d) umMfie fea

e :

(1) 9 (a), (b) 3R (d) (2) &9 (a), (b) 3 ()
(3) & (b), (c) 3R (d) (4) 9 (a), () 3R (d)

. I T MHR 9T (A SR B) feu U 1 8 9R fred feRel MU E | 39 e 1 9 i, S Ay

w9 ¥ ffig e o1 <oifan © (STHR STl sl SAfdTd 2R e €9 § ) |
MR e

(A) AfeRie Fdeh AR €9 § fife ¥ |

(B) ¥R T Wi € |

frreens

a)  AfeeRie Mo TRAIRE €9 9 fire €1

b) SRS T MHE T

o) st TR w9 @ fire st T

d) ety IR &9 9 ffe =afe ek 1

(1) (d) * () (2 (a) W (b) (3) (o) (o) @) (o) ¥R (d)

. A VARANASI &1 Fi2 WCUESGZQ T, @ KOLKATA &1 2 BT :

(1) LQOOFZH (2) LOQOZEH  (3) HLZEOOQ  (4) ZELHOQO

. T Afee 3 3T ufd § T 1 U= 4 gCFD, 3R IR F AT M F shad A1 a8

TfeeT THeT ! A A S ?
1) T (2) = (3) W 4) =&

wooors [ HAIIMNIRNNE



10.

11.

12.

13.

14.

15.

Assertion (A) : To communicate well in the classroom is a natural ability.

Reason (R) : Effective teaching in the classroom demands knowledge of the
communication process.

Code :

(1) (A) is false, but (R) is true.

(2) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(4) (A) is true, but (R) is false.

Which one among the following is a presupposition in inductive reasoning ?
(1)  Uniformity of nature (2) Law of identity
(3) Unchangeability in nature (4) Harmony in nature

Superiority of intellect depends upon its power of concentration on one theme in the same
way as a concave mirror collects all the rays that strike upon it into one point.

What type of reasoning is entailed in the above statement ?
(1) Deductive (2) Mathematical (3) DPsychological (4) Analogical

Two numbers are in the ratio 2 : 5. If 16 is added to both the numbers, their ratio becomes
1: 2. The numbers are :

(1) 32,80 2) 16, 40 (3) 20, 50 (4) 28,70

Differentiation between acceptance and non-acceptance of certain stimuli in classroom
communication is the basis of :

(1) selective morality

(2) selective expectation of performance
(8) selective affiliation to peer groups
(4) selective attention

The next term in the series

ABD, DGK, HMS, MTB, SBL, 2 ..
is:
(1) Kzu (2) ZKU (3) ZCA (4) ZKW

Which one of the following statements is not correct in the context of Venn diagram
method ?

(1) It can be used to represent classes as well as propositions.

(2) Itis a method of testing the validity of arguments.
(38) It represents both the premises of a syllogism in one diagram.
(4) It requires two overlapping circles for the two premises of a standard-form categorical

syllogism.

s [[HHNINIAINMINAAYE



10.

11.

12.

13.

14.

15.

ARTRT (A) : el | FHIA ST Y TGO FLAT Uk Tfah &0l |

qeh (R) : T B guret freror & forg Ievor wishan w1 9 STevasd ¥
< :
(1) (A) 7o g, «fhd (R) T

2) (A)TE (R) IH TE &, 31 (R), (A) FT T AR T |

3) (A) TE (R) S W&t €, Afw (R), (A) &t =0 T )
(4) (A) ¥ T, AfRA (R) 7o g |

frefafed 8 § SiAE ST 7 H Je-hiedd § 7
(1) WHfd T THEIA (2) wewfyen &1

(3) UHfd H sraftardrerd (4) Yhld H HHIE

Tt St Tt Uk fooa & o o SHeh! Uohl wifed TR SHT R R it § 99 TR shidehd
AU 3G T Y At qft fHon i Tk fog R Fufed sar 7|

ST e | ford YRR w1 aeh fafgd ®2

1) frmeAeTS 2) T (3) TAESTR (4) EEYAHR

T Gl 1 ST 2: 5 | A I TSt H 16 ST ST 1 ST STUM 1: 2 7 Sl § | 3 G
g:
(1) 32,80 2) 16, 40 3) 20,50 (4) 28,70

FHEINTA T H 5 SEYh! hi T 3R sralishrddr & sirg fadeT fhaes smem 2
(1) =TI Afdeshar

(2) TrarET i =S san

(3)  Ereft Rl h WY FIAHS Gl

(4)

EREIR CIRIC]
SJEel

ABD, DGK, HMS, MTB, SBL, 2,

Ehﬂf 341|€i H’@IT%

(1) KzU (2) ZKU (3) ZCA (4) ZKW

frfefad o @ e e oF fox fafy & def o o2 =& €2

(1) SHHI o o STATEN STMER AR hl YSRIA hid o foTT START foham S wehatl |

(2) % I I AHAT h T T Teh oY 7|

3) I T fod B = ok % 1 SR SRl bl TR I ¥

(4) =HH O =9 919 & A €9 & o STHR Jl o T TWoR ST & g1l i STeeehdl
BB

ooors [[{HNNIIRHARIN] -



16.

17.

18.

19.

(
ooors [[HHNINIAINRINAAE

Assertion (A) : Classroom communication is a transactional process.

Reason (R) : A teacher does not operate under the assumption that students’ responses
are purposive.

Select the correct code for your answer :

(1) (A) is false, but (R) is true.

(2) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(4) (A) is true, but (R) is false.

If the proposition ‘domestic animals are hardly ferocious’ is taken to be false, which of the
following proposition/ propositions can be claimed to be certainly true ? Select the correct
code :

Propositions :

(a) All domestic animals are ferocious.

(b) Most of the domestic animals are ferocious.

(c) No domestic animal is ferocious.

(d) Some domestic animals are non-ferocious.

Code :

(1) (b) only @ @and® () () only (4) (9 and (d)

The next term in the series

-1, 5,15, 29, 2 ..
is :

1) 63 2) 36 (B) 47 4) 59

Which of the following set of statements is correct for describing the human communication
process ?

(a) Non-verbal communication can stimulate ideas.

(b) Communication is a learnt ability.

(c) Communication is not a universal panacea.

(d) Communication cannot break-down.

() More communication means more effective learning by students.

(f)  Value of what is learnt through classroom communication is not an issue for students.
Code :

(1) (@), (), (e) and (2) (@) © (e) and (§

() (®) () (e) and (4) (@), (), © and (d)



16. IMURYIT (A) :  HEFT T Th TshaAT-afaehil Tisham < |
e (R) : IS off frersh 38 A=l o Sfarid e 6T Rt TR SEI 1 STfhATT Feed St
gl
3 IW & foaw v %e g :
(1) (A) 7o €, &ifeha (R) T B |
2) (A)TE (R) SH w& €, 3R (R), (A) F T =R T
(3) (A) T (R) I T &, AFA (R), (A) F T =0 T 2|
4) (A) T €, AfHA (R) T B
17. ‘9o 99 %9 GOR B &, AfE 39 yiawia i st 7 o S €, df frefafea § 9 fha smar
e/ SR 1Rl o1 Y= 9 | §cd A 1 Qe TRl ST 9kl © 2 W& e 1 =97 ST
SR AT ¢
(a) Tt e Iy WER B ¥
(b) ST dTerq Y] GER €I € |
() I ot TeTq U] GER L B ¥ |
(d) F TR 7Y GER T B F
<<
(1) e (b) (2)  (a) R (b) (3) A (a) 4) (o) R (d)
18. S@an
-1,515,29, 2
T STTCH TE&T © :
1) 63 2) 36 (3) 47 4) 59
19. THa GEu Yfshan % faero & fod frafafed § @ e e aq=ea @& €2
(a) TeNfecer FEIU fa=Rl ol 3w & Hhdl ¢ |
(b)  TETU TH A &Il T |
(c) FHYOT U W T T T
() TE wied & & o |
(e)  Afereh THwU I 21¢f B G A gEt e 7|
(f)  THEINTA TEIYOT & HILH 9 U8 U 1 4o Bl o fau eyl 78 2 |
e
(1) (@), () () () @ (@) (© () 3 (f)
() (b), (d), (e) ST (f) 4 (@), (®), © @)
SRRl | ITTTLEE | —




20.

Assertion (A) : The initial messages to students in the classroom by a teacher need not be
critical to establish interactions later.

Reason (R) :  More control over the communication process means more control over
what the students are learning.

Code :

(1) (A) is false, but (R) is true.

(2) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(4) (A) is true, but (R) is false.

The table below embodies data on the production, exports and per capita consumption of rice
in country P for the five years from 2012 to 2016. Answer questions 21 - 25 based on the data
contained in the table.

Year-wise Production, Exports and Per Capita Consumption of Rice

Year Production Exports Per Capita Consumption
(in million kg) (in million kg) (in kg)

2012 186.5 114 36.25

2013 202 114 35.2

2014 238 130 38.7

2015 221 116 40.5

2016 215 88 42

Where, Per Capita Consumption= (Consumption in million kg)+ (Population in million)
and consumption (in million kg)=Production — Exports.

21.

22.

23.

24.

25.

What is the population of the country in the year 2014 (in million) ?
(1) 2.85 (2) 2.64 3 272 “4) 2.79

What is the average consumption of rice (in million kg) over the years 2012-2016 ?
(1) 100.1 (2) 104 (3) 1021 (4) 108

In which year, the population of country was the highest ?
(1) 2016 (2) 2013 (3) 2014 (4) 2015

The percentage increase in the consumption of rice over the previous year was the highest in
which year ?
(1) 2016 (2) 2013 (3) 2014 (4) 2015

The ratio of exports to consumption in the given period was the highest in the year :
(1) 2015 (2) 2012 (3) 2013 (4) 2014

)
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20. 3R (A) : etk g e § B ol fU 7T sRfRyes Hewl &1 are § 3ia: foren wonfud & &
feTT FREqul BT STEvae® T2l & |

e (R) : FEOT Yishal W sT9eThRa Aty fraEn 1 ffeaed Bl gru Aftnm W edansga
feres T ©1

e

(1) (A) 7Ted B, &fehd (R) Tl

2) (A)TE (R) TH TE &, 31 (R), (A) FF T ARAT T |

3) (A) TH (R) SHf Tl €, AfFA (R), (A) T et =0 & 2|

(4) (A) &I €, AfRd (R) T 2|

freitera arferert ® fordt 29T P o foIw wisr st 2012 | 2016 ek =G & S, FHaia iR wfq
wferd SUUT & oY | 3T WRifehd &1 0 dlfeteht U fIU T iRl o MR U U9 HET 21 - 25
& S gty |

Tae 1 TY-aR Icqred, Frafa IR i safad susdm
- S| RIS gfq =fed 3T
(Toferam freimm ) | (fHferam foreimm o) (foretmm )
2012 186.5 114 36.25
2013 202 114 35.2
2014 238 130 38.7
2015 221 116 40.5
2016 215 88 42

wei, gfa e Sudim=(Sudm  fafeem feeum ) « (Sgen fafaem ) ek sgum
(Tafe=m fremum &) =SaeT— i, § :

21. 99 2014 H I skl SHEE (fAfaaa #) fora o ?

(1) 2.85 (2) 2.64 (3) 272 4) 2.79
22. 99 2012-2016 ki Aafe H =raal o1 3f9d 394 (fafaaa feam) feam &2

(1) 100.1 2) 104 (3) 102.1 (4) 108
23. <9 ki SEEA forg o9 H waifeen off ?

(1) 2016 (2) 2013 (3) 2014 (4) 2015
24. fRg v # foed 94 o1 gorm1 § =@a & U4 H Haityes gfawrd o g g8 ?

(1) 2016 (2) 2013 (3) 2014 (4) 2015
25. fora ad &t srafy § frafa iR sl o1 17U waifes o ?

1) 2015 2012 3) 2013 (4) 2014

()
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26. Put the following units of storage into the correct order, starting with the smallest unit first
and going down to the largest unit :

(a) Kilobyte (b) Byte (c) Megabyte
(d) Terabyte (e) Gigabyte (f) Bit

Give your answer from the following code :

1) ®, ®), @), (d), (©) (e 2 ® ®) @) (9 @) (e
) ®, ®) @), (d) (), () @) ® ®) @) (©) () (4

27. Assertion (A) : Indoor air pollution is a serious health hazard.
Reason (R) : The dispersal of air pollutants is rather limited in indoor environment.
Choose the correct answer from the code given below :
(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true and (R) is false.

28. India has the largest Higher Education System in the World after :
(a) The United States of America (b) Australia

(c) China (d) United Kingdom (U.K.)
Select the correct answer from the code given below :

(1) (a) and (c) only () (@), (), (c) and (d)

(3) (a), (b) and (c) only (4) (@), (c) and (d) only

29. Which of the following is considered as major source of pollution in rivers of India ?
(1) Thermal power plants (2) Unregulated small scale industry
(3) Untreated sewage (4) Agricultural run-off

30. Given the following email fields, which of the email addresses will “‘swami’ be able to see
when he receives the message ?

To... ram@test.com
Cec... raj@test.com; ravi@test.com
Becc... | swami@test.com; rama@test.com
(1) ram@test.com; rama@test.com; raj@test.com; ravi@test.com
(2) ram@test.com
(3) ram@test.com; raj@test.com; ravi@test.com
(4) ram@test.com; rama@test.com
S 11T




26.

27.

28.

29.

30.

ferul o fr=fafed seeal &l 92t %A § ay, SoH 18d aFaq 3o 9 IRFY 3 g arHad
THTS ! SR Feld ST

(a) ferciismee (b) e (c) WIS

(d) <TETEe (e) TiMETEE ) foe

Fefafad %e 9 o701 S| ST

1) (©), (), (a), (d), (c), (e) 2 (®), (B), (@), (), (d), (e)

3)  (©), (®), (a), (d), (e), (0) 4)  (®), (), (@), (), (e), (d)

AR (A) :  3Fd: g U WA & forw Tk TR waw ¥

e (R) : 31d: TIER0 H a1g U] ol OIS STdemeha Hifid g 2
T feu T e H 9§ W Il g

(1)  (A) ¥R (R) S TTerd €1

2) (A)TE (R) IH T2 ¥ 3R (R), (A) T T =A@ B |

(3) (A) T (R) I T T, AT (R), (A) T T = T ¥

(4) (A) F& T i (R) 7Tord B

fava o wra =t foemeraw s= fen yomed foa <90 & &g &1t 2

(a) HIH T4 TR (b) arefern

() =+ ) FAEeE fdven (F%F.)
1< T 77T e ¥ 9§ WE I F AT

(1) e (a) 3R (0) 2 (), (), () 3 (d)

(3) A (a), (b) 3 (o) (4) A (a), () ¥R (d)

R ! Afeal § F=farad § § forden! YU 1 Y@ &id JH= S § 2
(1) <9 fergd &+ (2) Afafafad o Wi e
(3) ANfyq anfedna @) Faw

frefafed s9a weed § 9 W’ 1 Hew fHe W a8 i | SHA Tadi Sl S Hehl ?

To... |M@I= FHM
Ce... | W@z #W; (I@I= . FH
Bec... | WMI@IR & iH; THIQIR. &Y

(1) TH@IR.HA; TAIQIR.FHH; QT hY; (@ sH
(2) TH@IE.HH

(3) THATE. FF; TN@T=. FF; M@ &M

(4) TH@IE. FHH; TN@TE. A
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31.

32.

33.

34.

Which of the following statements are correct about gender budgeting ?

()
(b)
(©)
(d)

It is a separate budget addressing the specific needs of women.
It assesses the impact of government budget on women.
It is an accounting exercise.

It is another budgeting innovation.

Select the correct answer from the code given below :

(1)
®)

Prime Minister Research Fellowship is for students pursuing Ph.D programme in :

(1)
(2)
®)
4)

Which of the following are the barriers to citizen-centric administration in India ?

(b), (c) and (d) only (2) (b) and (d) only
(a) and (d) only (4) (@), (c) and (d) only

IITs and IISc

State and Central Universities

Central Universities, IISc, IITs, NITs, IISERs and IIITs

IISc, 1ITs, NITs, IISERs, IIITs, State and Central Universities

Wooden and inflexible attitude of the civil servants
Ineffective implementation of laws and rules
Awareness of rights and duties of citizens

Lack of job opportunities for the youth

Select the correct answer from the code given below :

(1)
®)

(a) and (b) only (2) (@), (b), (c) and (d)
(@), (b) and (c) only (4) (a), (b) and (d) only

Leader of the Opposition is a member of committees which select :

(@)
(b)
(©)
(d)

the Central Information Commissioner
the Central Vigilance Commissioner
the Chairperson of National Human Rights Commission

the Chairperson of National Commission for Women

Select the correct answer from the code given below :

(1)
®)

(a), (b) and (d) only (2) (@), (b), () and (d)
(@), (b) and (c) only (4) (@), (c) and (d) only
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31. SeX Jeifen % aR H frefafed § 4 S e a8 g2
(a) T T T I &, forod ufeanesii =t fafire stawasdei R = feon S #
(b) SHH AfEEsll T TRER & dSIC o Y& I Jodiohd (hal ST & |
() IE T wErary & ¥
(d) ¥E T 3R FeIfen-Tarae ¥

% faT MU e H T WE IR F A -
(1) e (b), (c) 3 (d) (2) ad (b) 3R (d)
(3) A (a) AR (d) (4) I (a), (o) AR (d)

32.  WYM T vy Wenfyr frAfateg § 9§ fead 1wl SeEisd w3 9 861 & g ® 2
(1) STE.3ME.A. AR 3T, o1, v dh.
2) T IR Fws favaformea
3) wH=ra favafaarer, omE.omd wadl., o o At w.eE 2t ot ot g . &K
3TE. 3118 378, 1.

(4) STE.SMETHHL, oTE.3ME.3., TH.3ME.3, L. SR UH.E.3IR, 31E.3ME. .3, T67 iR =i
favafaeme™

33. YR H Meh-<hfed gumeH # fefafed § 9 g snud 82
(a) THRI ARl wi & iR o sifvgfa
(b) A IR Tl 1 STl A
(c) FMReRI & AfRRI 3R Hefedl & TR H SRS
(d) Jaet o T Fendl o TR 1 319

% faT MU e H T WE IR F A -
(1) e (a) 3R (b) ) (@) (), () IR (d)
(3) A (a), (b) 3 (c) (4) % (a), (b) 3R (d)

34. foraet =1 7 37 WA F1 TH GG B B, S 9o B« €
(a) hSId T SAYH
(b) H=IT FAhdl ST H1
(c) U AFe SAYHR AT & T8 Hl
(d) U Afgel SN LT H

% faT T e H T WE IR F A -
(1) e (a), (b) 3R (d) 2 (), (), () R (d)
(3) I (a), (b) 3 (o) (4) & (a), () ¥R (d)

SR AT




35.

36.

37.

38.

39.

40.

A new Laptop has been produced that weighs less, is smaller and uses less power than
previous Laptop models.

Which of the following technologies has been used to accomplish this ?
(1) Solid State Hard Drive (2) Universal Serial Bus Mouse
(3) Faster Random Access Memory (4) Blu Ray Drive

In terms of their contribution to the total power generation in India, identify the correct
sequence of energy sources - Thermal Power Plants (TPP), Large Hydropower Projects (LHP),
Nuclear Energy (NE) and Renewable Energy (RE) which includes solar energy, wind energy,
biomass and small hydropower projects.

(1) LHP>TPP > NE > RE (2) TPP>RE>LHP > NE
(3) TPP>LHP >RE > NE (4) LHP>TPP > RE > NE

Which of the following types of natural disasters has no definite beginning and end ?
(1) Droughts (2) Earthquakes (3) Landslides (4) Hurricanes

Which of the following statements, regarding the term ICT is/are TRUE ?
P: ICT is an acronym that stands for Indian Classical Technology.

Q: Converging technologies that exemplify ICT include the merging of audio-visual,
telephone and computer networks through a common cabling system.

(1) Neither Pnor Q (2) Ponly (3) Qonly (4) Pand Q

With regard to computer memory, which of the following statement(s) is/are TRUE ?
P: Read Only Memory (ROM) is “volatile’ memory.

Q: Random Access Memory (RAM) is ‘volatile’ memory.

R: Secondary Memory is ‘volatile” memory.

(I) PandRonly (2) Ponly (3) Qonly (4) Pand Q only

‘Fly ash” produced in thermal power plants is an ecofriendly resource for use in :
(a) agriculture as micro-nutrient

(b) wasteland development

() dam and water holding structures
(d) brick industry

Choose the correct answer from the code given below :
(1) (@), (b), () and (d) (2) (@), (b) and (d) only
(3) (b), (c) and (d) only (4) (a), (c) and (d) only

ooors [[{IUNNIIHNERNT



35.

36.

37.

38.

39.

40.

wooons [

T AU ATl 1 i form e €, fSee IR € SR sifues @Y § e ST qelend! Ateew
QT H A fostelt sl ITART B € |

s I § frefafed § 9 forg drenfient s Swim fhan w2

(1) difde < 3E grd ) Ifada HifFa 9 9=y

(3) TR eH TR HARY (4) YITEA

IRA § o Foed 3G | 37k ANRH o TRUEH H o1l Il oh Wal hH ohi Gga Shifelg : aTq fo=a
97 (TPP), fawmer siat fagga 9fEsHmd (LHP), T St (NE) 3R Teiehuia S (RE), forad 9r
Sl AT Solt, ST AT IR 7Y 5ot fogga ufEemm afmfed €1

(1) LHP >TPP > NE > RE (2) TPP > RE > LHP > NE

(3) TPP>LHP > RE > NE (4) LHP >TPP > RE > NE

TThfaeh foaered & ffafaa yeri § 9 frgen ffvea urey oiR ofq =& a1 § 2
(1) @ (2) e (3) IFEe (4)  THSH (THR)

M. wsg Ug & IR § Fr=fafad § & i@/ wrd wue 9l 8/8 2

P: ST Yemerd AW T, e qu W e Faiiea SHatst € |

Q: MEHLA F iqia A gRomdt wraftrent wftmfed € i siaia ge9-39a, QUMW 3R Fgs
(TTTUTR) eah Teh W1 FHM hefel Yol gR1 G fohe S 1

1) JTWPRIAAQ (2) Haa P (3) %aa Q (4) P3RQ

FIR JORI & IR H freAfafead § § S/ SF9 woF @ 8/8 2

P: < e FER (ROM) ‘afciesd’ HHk 1

Q: Teu T BRI (RAM) ‘dfciersd’ HH 71

R: Ul BER] ‘Sicerd’ 76k T

(1) FEAPIARR  (2) oA P 3) Had Q (4) FEA P ARQ

arg farega G & Seqifed ‘weré Yo’ weh qafer-fedst S v, foosht frad s fohan s @ 2
(a) &9 Uk % &Y H HYH

(b) sSR qff & fakme o

(c) 9y 3R a1 uRor WLAret |

(d) Zesamd

1= feu T e ¥ 9 W@ W G

(1) (@), (O), () 3 (d) (2) I (a), (b) 3R (d)

(3) A (b), () ¥R (d) (4) T (a), (c) 3R (d)

LT




41.

42.

43.

Which of the sets of activities best indicate the cyclic nature of action research strategy ?
(1) Plan, Act, Observe, Reflect
(2) Reflect, Observe, Plan, Act
(3) Observe, Act, Reflect, Plan
(4) Act, Plan, Observe, Reflect

From the list of evaluation procedures given below identify those which will be called “formative
evaluation’. Indicate your answer by choosing from the code :

(a) A teacher awards grades to students after having transacted the course work.

(b) During interaction with students in the classroom, the teacher provides corrective
feedback.

(c) The teacher gives marks to students on a unit test.
(d) The teacher clarifies the doubts of students in the class itself.

(e) The overall performance of a students is reported to parents at every three months
interval.

(f)  The learner’s motivation is raised by the teacher through a question-answer session.
Code :

(1) (®), (d)and () (2) (a) (b)and(c) () (b) ()and(d) (4) (a) (c)and (e)

In the two sets given below Set - I indicates methods of teaching while Set - II provides the
basic requirements for success/effectiveness. Match the two sets and indicate your answer
by choosing from the code :

Set -1 Set - I1

(Method of teaching) (Basic requirements for success/effectiveness)
(a) Lecturing (i)  Small step presentation with feedback provided
(b) Discussion in groups (ii) Production of large number of ideas
(c) Brainstorming (iii) Content delivery in a lucid language
(d) Programmed Instructional (iv) Use of teaching-aids

procedure

(v)  Theme based interaction among participants

Code :

@ (b) () (d)
1) Gv) @) @ ()
2 @ @ @) @)
) @) (@) @) (V)
@4 @ (v @ @

)
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41. Toramsemdl & frafafed aq=El § S aq= frarms i WHifa &t =shia Yia &1 SR s

g2
(1)
()
3)
(4)

e, frenf-afa, Yeror e, Tea faq e
e T e, 9&Tor R, e, feranfata
Jego1 &1, ToRanfafd, e fead e, feise
foranfrafa, fsm, Yeror &, Tea fiaq e

42, < T YoAiwa ufharetl § § 3TH! TgaH Hifse, e  fmfomeTe qodicd’ el S g1 A
QU 7T Fe T TAN A U ST IW I AT :

o1t ITeTsRT 1 1 QU HA & 91E BEI 6 TS @ T

forerer hen § BT & WY Fd:foRa & SRE GuRIeHs Iy yem #a g1

forereh 3ohTS WRieTo ® B I 31k a1 T

forereh et § & BN % T Dl TR HIAT 7|

BE % Ty FoareT & IR § Y dF HIE & e R AR b fde o s §)
o1t Je-I T & WY 9 Sfenrmekat i SIRRen # gig war g

43. = feu o < wyer § wuee - 1H faaw fafiat S w0 € Sefs e - 11 H g/
ATl S ot STHEE & T € | 39 <M1 9g=ai i Gferd sifee 3iR i fou 70 §e o § o1

Wﬁlﬁﬂﬁﬁz

= - 1 = - 11

( forgror fafer ) ( THEAT/ UTETATEehal hl Ul TEyaehard )
(a) SARAN Sl () wfagfe wfed oy 9 # wefd
(b) ERl == (i) oS gE | fo=mi &l g&ga we
(c) Toramuersr gfsham (iti) T AN H foerE] 1 HEE
(d) AR STeIE ® Ugia (iv) Toreror-IushTel w1 39Em

(v) AR § geRtur-eneniia wrfert

< :

@@ () (o (d

woons [

i) (i) (v)
i) (@) @v) (v)

@) (v) @@ @)
i - P10

(
(v G) @ G
.
(




44. Which of the following sequences of research steps is nearer to scientific method ?

(1) Identifying the causal factors, Defining the problem, Developing a hypothesis, Selecting
a sample, Collecting data and arriving at generalizations and Conclusions.

(2) Suggested solution of the problem, Deducing the consequences of the solution, Perceiving
the problem situation, Location of the difficulty and testing the solutions.

(8) Perceiving the problem situation, Locating the actual problem and its definition,
Hypothesizing, Deducing the consequences of the suggested solution and Testing the

hypothesis in action.

(4) Defining a problem, Identifying the causes of the problem, Defining a population,
Drawing a sample, Collecting data and Analysing results.

45. Which of the following set of statements best describes the nature and objectives of
teaching ? Indicate your answer by selecting from the code.

(a) Teaching and learning are integrally related.

(b)  There is no difference between teaching and training.

(c) Concern of all teaching is to ensure some kind of transformation in students.
(d) All good teaching is formal in nature.

(e) A teacher is a senior person.

(f)  Teaching is a social act whereas learning is a personal act.

Code :

1) @ @and(®) (@ @ Gandd @) (b),(©and(® @) (a), () and (9

46. The problem of ‘research ethics’ is concerned with which aspect of research activities ?
(1) Evidence based research reporting
(2) Following the prescribed format of a thesis
(3) Data analysis through qualitative or quantitative techniques

(4) Defining the population of research

wooons [ HRHRIERILER
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44.

45.

46.

Iy TS 1 FrEfafEd § 9 FH-91 w9 Swfe fafy % feee €2

(1) HRU-TcTh FHRehI hl TG hiAl, THE I IR HET, IRehea T oM, Ffdel 1 == ,
3TIhe T UG IR ATH=AHT0T qe Fshel W Tg=m|

(2) HEE ] YO FHIEM, FHEM o GROMHI ol TR R, T i feafd ol sT9d &,
HicTE ot TeaH 3R THTH w1 aE |

(3) THEN Wi feafd I ST A, AR T i TEAH SR IHeh! TRTE, TReBeqT HLAT,
T FHIEM o IR Sl I S AR Iiehea 1 & ®9 § W/ |

(4) HHEN ! GRUIYG HE, T 6 FRO 1 GEH ], G Hl IR T, gfaedd @
T, ATkl T GULY IR URomHT =1 foersor e |

frrefafed § | S we T=a e & yefa TR w9 &1 399 €0 | foero ygqa i €2
= feT T Fe H ¥ o W H AT
a) foraror iR sifirm sifafees w9 9 aftm €1

(a)

(b) foreror 3R gfereror & g &g S 7 B

() THE forer o1 TR BT H F YHR F TR 1 A= 3 T T 2 |
(

(

(

d) TFw o= fego yhia § Sfaenien g 8|
e) Toreger T aftss =afaa &1 © 1
f) e uw wmfse e €, W M T faTd A 7

‘oY AfqeRar’ i TEeE vy fRarRaTd % R Uee § Hefyd 72
(1) HeF-anaia Wy Rafén |

(2) " Y&y o FHIRa 9T & STTE |

(3)  TUTCHR AT HIATHE dehrlehi o HIEH § 3Tihel o favetool |
(4) MY < F9F I GREIT A 9

2

4
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47.

48.

49.

50.

There are two sets given below. Set - I specifies the types of research, while Set - II indicates
their characteristics. Match the two and give your answer by selecting the appropriate code.

Set - 1 Set - II
(Research types) (Characteristics)
(a) Fundamental research (i) Finding out the extent of perceived impact of an
intervention
(b) Applied research (i) Developing an effective explanation through theory
building
(c) Action research (iii) Improving an existing situation through use of
interventions
(d) Evaluative research (iv) Exploring the possibility of a theory for use in various
situations
(v)  Enriching technological resources
Code :
@@ (b) () (d)
1) @ @) () W
@ @ @) @ o
() & @) @) @
@ O @ @) )

In which of the following activities, potential for nurturing creative and critical thinking is
relatively greater ?

(1) Participation in a workshop (2)
(8) Presenting a seminar paper 4)

Preparing research summary
Participation in research conference

Which of the following learner characteristics is highly related to effectiveness of teaching ?
(1) Family size from which the learner comes.

(2) Prior experience of the learner

(3) Educational status of the parents of the learner

(4) Peer groups of the learner

Assertion (A) :
Reason (R) :
Choose the correct answer from the following code :

(1) (A) is false, but (R) is true.

(2) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(4) (A) is true, but (R) is false.

All teaching should aim at ensuring learning.
All learning results from teaching.

-00o0-
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47.

48.

49.

50.

e & g feu e ¥ | wee - 18 9y % wehR feu T €, St weee - 1 H St feand
AT &1 T § 1 9 <1 bl GHfAd Sitee AR ST e 1 9 L STTT I ol AT

=T - 1 == - 11

(3Ter & YT ) ( fergrorard )
(a) Hifcieh oMY () T R STIA Y& I TqT TR
(b) =FRd MY (i) Tagid fefo % werm 9 g9Eicaes e o fashm T
CERERISEIRIC] (il) TEHT % SYANT < AEAH 9§ Yafera Feafd § gur @
(d) FHRI-TE WY (iv) Tafve feafdl 9 sw&m & fau fagia =t gacad & @rsey

AT
(v) Wifafees SEreEl sl Jgg H

<

@@ (b) (9 (d)
1) @) () Gv) (V)
2) (@) (@v) @) (@)
G) (v (v) (i) (i)
4) @ (@) @) (@)
frfafaa 4 forg frameram § gomsita iR gritercrs fea & dummo st sifiew emd €2
(1) hrfeTen § AEieR (2) Y FA Bl TIR BT
(3) TS H UMY oG I YR BT (4) I T H IR

sferTHeRdl st Frefafed § 9 e forio fie it gEicaesha § 3T@d €9 § Hafyd § 2
(1) 9RER &1 3R, foweht ifermehdl T i

(2) SrferTHehdl 1 qa-3TIvd

(3) AfermHdl % Afuurashi i Sk TR

(4) STfeTHeRdl < Wil g

AR (A) :  TEE Toeror A1 3F AT Rl YHAfe=a e g1 =ifen |
e (R) : T STferr fegor w1 qiom S §

1 feu T %2 ® ¥ W@ W 1 g

(1) (A) 7@ &, AAfehd (R) 92T 8

(2) (A)TE (R) 3 W €, 3R (R), (A) i T AT B |

3) (A)TE (R) IH TR §, &R (R), (A) Tl T =A@ T2 7 |

(4) (A) ¥R B, afHT (R) o T

-00o0-
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Space For Rough Work
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